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N.
3a+10a—2a=

b2 +b%+b?>+2b-5b—-7b =

.

12a® —4a® +10a-7a°+5a%-4a=

7.

5a’x +3ax — (2a’x —ax + 7ax®) + 7ax’ =
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1. 2 2
—X+—-Yy——X+4x+8y=
3 5y 5 Y

2.

90X+1O.5x—3y—3x+11y =
12° 4

A

4(2x+3)—7x—g(4y—2)+3xy=

T>< RGML][M o720 "X nnmw nirdT™ D

www.targilim.com



T RG]HLI[M In'7'23n Ynx 7w 0'7'aana nain

www.targilim.com

T NIN'D'7 NNAAINA ATIAY NN
www.targilim.com nr7'2a3an ANXA 12000 11VY0A DYI9IN NIINNSI DMA0N

02X 012'21 DNAN |2 ji'w ~(303) 712ann np'n

nno

N.
10(x+2y)-10x(7y-2) =

2.

9x+1.5xy+;y—4x+6y:

A
1

1 1
TX—Zy—(2X+4=X)-5y =
2 3y( 4) y
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